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Algebra S2- Semester 1 Final Review

Graphing:
Finding a point & slope from standard form:
Notes: U[ & ?_\j & \.L
..\-\¥ "’L\'X
— L
-\g‘ ':L £ \ ‘\(\ = Z
\A— -‘Zx +\D 7 pnny. (0, \D
Finding a point & slope from slope-intercept form: Finding a point and slope from point- slope form:
Notes: Notes:
e s
W= oTX 45 §*+ 9= 3 (Xx+2)
Mm=-% =3
vont (0,%) pont: (-2,-9)
Finding a point and slope from perpendicular/paraliel lines:
Notes:
A \
Perpendicular to: \5‘_ K - 5 Parallel to: \j = F"T’X 1.3
POy AV GO kY v&mnu
Slopt -2 s\ope
Example: - -2 m-= _;?
Graph:y = —2x + 4 \j_\'ﬂ\—‘_ “" Graph:y—~3=%(x—1) ?0\'(‘\1_: \\‘3)

e
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Eorms of Linear Equations:
Slope-Intercept form:
Notes: \5-_ YA i |
- MNX ¥ \%; aef
ki ly gankypt  ™M°
s\hye t R W - - +
Point- Slope Form:
Notes g
e 4
Y-y =m X -x) Tt
L L s\opt m=< )
point 2 | point. (-2,4
Standard Form:
Notes: 4 2_
AX *E\S:};’ ’$x+5\j- )
N srun
Examples:
Convert to slope- intercept form: \.5 = 4 \0
3x -2y = x =
m‘.’)k » ESX (E):*lxﬁy —3:)& 3
-2y 3x1% 5y=-4x-3
-“_\lé' "¢ = “%4 ® O
m . Y Ex -2
onvert to standard form: i e A =
C t to standard fi A B\a F %?"\ __\‘\;\
Bly+4=-3(x+1) (4y =4 ==1(x+6) o
Y+=-3x-3 Y4 = -Sxm2
15x ¥3X +l?§)< +_%x
?DX“\j-*k’\" =5 *13‘)( .\.\6-\\-:-2 \}
B e vy
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Practice:

d

Convert to slope-intercept form: \5 =MX « b

(1) x—-y=_3
-X -
e
—\ a\ -\

[4=x+3)

Convert to standard form: AX B\S ¥ Q;

(3)y—3=2(x-6)

e ) 8t A
' -Zx

~Z2% a4 ~-3= ~VL
— 3 I

- TR * = =N
(5) l‘lﬁ_t!ﬁ—sréﬁ\;%?_the ine through
(5,9) and (-6,-4). B
q-(-4) |13 \
L3

W= m-

(7) Write a linear equation in standard form: AX By = (J

slope of% and a y-intercept of 4.7 0‘13)' L
5 (x- (-9 ‘ W = Sx *4‘x
“S(x+9)
y-A=-Zx -2

line passing through the points (-5,4) and (-1, -6).

e e ) N (W1
e s )

+44
+‘Sz')(

| o il
|EX P = =T l
(9) Write an equation of a line in slope-intercept form that'is perpe

Y= X 4 v

through the point (0,-5).
N
\5—\f\\

A= -
4=

Algebra S2- Semester 1 Final Review

(2)2x -3y =12
-Zx -2X
Bg= TEX v AL
2 -3 e

(a)y-1=2(x+3)

\g‘ T 3IX A
-ZLy -L

% ER S
- = + = - 1

?x \j \ a
i yW=mMxtp
(6) Write a The ation in slope-intercept
form: a slope of -2 and a y-intercept of 7.

| Eﬁ = 'Z)( + ] i

\3 1 11% 1))

Write a linear equation in both forms:
(8) Writea li q s

"%X ¥ g

icular to y = 3x — 7 and passes

¥ (10) Write an equation of a line in slope-intercept form that is paralleltoy =

%x + 9 and passes through the

. point&?_). Y)"mx + b =
: \5-\{\\ z Z
=5 = H5x+ L
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Algebra S2- Semester 1 Final Review

Practice:

Graph the following lines using the information:

(1) y=z2x+3 (2)2x + 3y =12
yan¥ 5>
. =2 H
SR T
wE
i

Bly+3=2(xt1) (4) Parallel to 2x — 3y = 9, passing through (-3, 1)

swgert - i
poY: -, 5\_';,“5 .

!
RenH :
i ! |
(5) Through points (2, 5) and (-4, -2). )y =(2)*
SRR

0 e
| i-a v 9
\ :; .
Z_ ik !
i i
;'Et '_ll“ + t 1
ke o
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Algebra S2- Semester 1 Final Review

Simplifying Exponents:

Product of Powers Property:

Notes: . . "
0:“ . 0:\ _ &m +1 % )( - X
?)1 ) 5 | _ 3 ]
Power of a Power Property:
Notes: . i 5 IS
o)™ = ™" (x*) = X
(X b
(37)7=3
Quotients property: :
> 1
0o -
3 1 2
z 3' ——i- :i
4™ o (i)'l? (w) :
O (%) -+ Y
Negative Exponents & Zero Exponents:
otes: __5 _—\_ ...}---- - 3
o o 9 LR T 3_” Xh‘
. -
0 5 - 3t 3 3
@ &, l \ XO _;\ 3“ - \
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Algebra S2- Semester 1 Final Review

Practice:
(3 % x® Xl?S (2) 2x5 - 4x°
1 ‘ ZJK:S*L1 _\
l_)(, 2-4-1-x>
8 (12y° ytys (@) 357 - 23
12115 TS
\ZB\I‘ | ¥ °
(5) (4x%)3 - x_—%s@;_;
LLI'") )(u‘ 1 X"i-S 1-5 x_‘ ”
il S
Lot E
) ) & (g 3

8= =
y 4x—*

S5-% )
ij X'
g ] 0,,-2,3

(11) ('6"5;) 12) x4y 47

X &

VRV 0
3 Lﬂ m
T FTH
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Algebra S2- Semester 1 Final Review

Simplifying Radicals:

Simplifyin i i
plifying Radicals using the product property (gets rid of perfect squares in the radicand):

.W- V& - Vp Fink Y b\'gg\e&’r
' puriety squoe facrop?

ﬂ?-— ’\"q—ﬁ
=347

Simplifying Radicals using the quotient property (gets rid of fractions in the radicand):

Notes: _Q_L__ﬁ 1/"
\/; " 3% . Bl g

Rationalizing the Denominator (gets rid of radicals in the denominator):

{I_,___ G 43 Muiply both Yop < potton
ON3 "5 "% " 3 yy m\&\m ALNOMING IOV

Evaluating vs. Simplifying
Simplifying: simplified answer satisfies the following rules

(1) No perfect squares allowed in the radicand.
(2) No fractions allowed in the radicand.
(3) No radicals allowed in the denominator.

Evaluating: get a whole number/decimal answer
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Algebra S2- Semester 1 Final Review
Practice:

In #1-10, simplify the following expressions.

(1) —Vas _ (2)v300
{995 oo - V3
@ ]101[?\

(3)3v98 (4)528
SN yZ

fo L e 3

A
8
A
IZ\E] ¢
1)
(5) 45
4.3

(6)v108
34 <3
iz) | W3]
(7)‘\/:?‘; (8) }E
i 3 @Q
L wndatine d W_4 8
3 3. 38
=|3X3
o
M—d% - (msg
W CRICTS | W - | e ¥T - 53 105
Evaluatethefcflk?wilr'lgexpressions: - ersf_f) |
(11) 5+2J3 _ (12) Zi;"@
S*34% 2:4.]
340, 1.9¢

| : 1Zz.9,-).51
(13) Evaluate vb? —4ac whena=-5b=6,c=7

AN -4

)
Y 34 140
(\'I\D

| 13.2V)
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Algebra $2- Semester 1 Final Review

Solving quadratics with square roots:

Notes: ZX -\-L -}
0= 2 K3 ® Y= N )‘«*90““’ tovaty
A= 30 ¥ = Vs £ o
;i A=Y

Notes: L,i.x "Z z \L![ R 7_3—_ - 3 w\_m\
D) _. @ DX7._ * W SN w

< -3 73 ppvrip W | Oavi0R

el X3 W OIS

\..\
Yi‘—%ﬂ AN \o(v‘

Notes: 57\ N :\l._ Z_‘T) * Q¥ \ﬂ)d(\(kb\t \7\5

2720 o aEE ooy Qo

T NVAINALS
=]

(1) x2=5=-4 (2)9x*+10 = 910 (3) x% = 64
r9 45 :\0 \ W g
X =\ 4x "= ¥)

4T [==3)
%

(4) 3+ 4x? = -85 i (5) =5x? = —500
-3 -3 -5 =5

_(m LiE\L kS A=l
N0 x* = V100
Q\\J“Q“ X = =g

2 Y - N

(6)2(x —5) = (7)4x—-5-2x=3+x (8)5x —10=5

0
7 —L- 2____.Jr 10 +\0
Rt o= 0ig %713
PIRES)

u

x-973

_ S ¥ x:a
| X=%
(10)3 - 2x < 16

(9) 10x + 6 < 26
o -% = -
\0X £ 20 -x©\>
'O W0 -z -t

e Uil

.-b—
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Algebra S2- Semester 1 Final Review

Solving a System of Linear Equations:

Solving a system by graphing:

Notes: Steps:
(1) Graph both of the lines.
@ \5 —H9X-5 (2)Find the point where the lines intersect.
(3)Solution is always a coordinate point.
AN
\s»\’ﬂ*'. -9
@ ix ty=1
~TX -IX
\5 - -2x * 1
=2 ol
40y ]
sewhgn:| (z.3))
[ —

®)

Solving a system by substitution:

Notes:

@ X + z\j =3 (1) Isolate one variable of one equation

(z) X - L_} s ..\ (pick the easiest).

\5 - (2) Substitute the expression from step 1
N into the other equation. Solve.

(3) You're half way! Substitute that
solution into the original equation and
solve for the remaining variable.

(4) Answer will always be a coordinate
point.

Steps:
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Algebra S2- Semester 1 Final Review

Solving a system by elimination:

Notes:
0 5% +2 "'Li‘ | Steps:
(1) Rearrange the equations into Standard

O 5)( .7)\6" —'\q Form (Ax + By = C)

(2) If a variable does not eliminate, multip'y

-\ ¥ = =
(5)( _L L‘) one or both equations toget 0 opposite
\j coefficients of the same variable.
x ‘5\5 - -\(l (3) Add the columnstogether(onevanabk
— ‘ should eliminate). Solve for the
=5k &~ 15 remaining variable. Half way!
(4) Take that solution and plug it into eithe:
equation and solve for the remaining
[ - variable.
5)( T Z (-3)__-’ Li' L"’z.,%) (5) Answeris always a coordinate point.
B¥X T = :
A==l
Solving a system of inequalities:
p Notes Steps:
fa @ 7 e P l 1{%\”- (1) Rearrange both equations into either “SIF” or “SF”.
\j /\\ A X X (2) Graph both of the lines.
I . 0]l0Fx a. Use adashed line for >, <
bb\'\b'; m-= Z olt J b. Use a solid line for =, <
4 N ¥ | c. Shade above for =,>; below for <, < ik
\ﬁ : (3)Pick a point in the shaded area to check your solution
o J ‘ o ¢ § o
gy novizontal R ere el Pt Pase
oS R 2P i e o el O
A b & 1 1 - Fos =\ T iy
X = “{%‘- - AL LIPS }
ot i -
o\ I i
) VS + UL XLk
< - Y .

b
.
|
L4
I
b
|
I
|
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Algebra S2- Semester 1 Final Review

Practice:

For #1-2, use elimination to solve the system of equations.

> ._
W) fx-zy=-12 _Y4x-2(-g)= ~IT @3 +7y = ~16) _5 q().
*r/x‘+8y:-24__ qx+\2= -\Z % qz(x+5y—16 3% - ZB“‘lb

T R I
_\;L:——_-f ) — ‘X‘—'Lll
(b, -0)| ‘ ﬁ/ﬁ‘"]

| -]

For #3-4, use substitution to solve the system of equations.
GXy = —8x - 16) —s Y = X =1)=1 Trsy=n
—3x+V=-5 \5 = %ﬁ\\o 2x—19—-y

X T =) = -9 @ % - :,n
e VA &=+ P9 X214
Ny -lw=-5 . O -%) | Z(49) = 14 3 {x=10]

-\ =) : 22+2 = 9=

YF-'-T\ 11 Jri’y =\9q :
For #5-6, use graphing to solve the system of equations. 3é—f'_’\'\ | \ 0
(Sly=x+1 ?;“_Vf“‘\ (6)—2x~y =6 = - JX*\a
PTE gz yogr S

\5 S110 % Y -3 5\0?(~. -1
S\DQQ 7 .._3-7‘ ~ \5"\“‘-"\?

o e g
S O Rl
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Graph the system of inequalities:

ke
_\-{5\_ o (1) g . %\BY( T
)2 ox—4 ¥
;%_1\»6 ’ 5@\3\ PR 4
“ox o y>=ax+3 sS\WOPR T
0%\\10 3\- NNE 3
TOOY g;\,“}\\;

N\ W\Q‘N‘\
'l:\ AN U
QAR
\ N \ B \1.‘_‘
N

Write the equation of the line from the graph:

(3) (4)
& ’ \ 1 | \T\
e AN %
Yoy - Ay N gt ‘ N
SNEPN= T .1 ERA \\D\Q SHEE A
" QO
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Algebra S2- Semester 1 Final Review

Exponential Growth and Decay:

Growth Decay

Formula: \)3 - C (\a—()t Formula: \5—, C (_\ - f)

1

Graph: P Graph:

Ex 1). In an experiment it has been noted that a certain drug kills thh salmonella bacteria at a rate of 9% per
hour. If the initial populatlon of the bacteria was 100 000, what will it be 5 hours after taklng the drug?

QU 0O S - \00,000 \0 ">

Ex 2). Today you bought a truck for $10,000. The price of the truck deprecia z!‘s atka rate of 8% per year. What

would the p”‘zof&t:e t;%kgbe alker L years: = \0 \ 00 U \O ql\ !

\éﬁ 10,000 (V- 0.0%)" \{\Kﬁgﬁ’ﬁa

Practice:
9y wih
(1) Find the bank account balance if the account starts with $100 has an annual rate of 4%, and the
money was left in the account for 12 years. 2
Cc\n)® - 100 (1.04)

RO )

(2) You buy a new computer for §2_1g)_ The computer decreaseslny 50% annually. What will the price of

the computer be in 3 years?
v 27,100 (0.5)°

COinet
\\5 2100 (\ - 0.9)° \j ~\¥702. 58\ ®
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